oh2 23} Zro] WYX ABCD & of
Z+ BD € Wt o] ADBC 7} ADBE &
%A%t DE, BA o A4 wHSF
2} 511 /BDC = 42° 4 o, zx = o° o|th,
o 9] #&2?

O 94 )96 ® 98 @ 100 ® 102

B \

AD//BC 0|28

/CBD = /ABD = 42° o]1,

AEDB & ACDB & o124 Zlo|nz
/CDB = (EDB = 42° o|t},

AFBD 9] Wjz}e] gto] 180° Y& ©]-&-5H
Lx+42°x2=180°

S x=96°




2.

ch& 189 BAXPAY ABCD oA Za, b, e o] 712 Al
Fotofet.

ol
o o

v VvV v v Y
0
i

- Za=20"°
HMED b =50°
HE D 4e=70°

e \
/BCD = 180° — 30° — 80° = 70°

/ADC+ /BCD = 180° , 60° + Za+30° +70° = 180° , za = 20°
/BAD = /BCD , AABD ©°f|A] 70° 4 60° + b = 180° , /b = 50°
/c=/b+20°, Lc =T0°




A
o
I
ot
i)
i
Mo
ol
o%',
>
i
ofl
>
oy
Q
wj
=2
2

SEMO wHE E 2 & u, LAEC =
( )°oltt. ( )Qtof| dgke 5
ot 2t

> =

> FHe: 90

/BAE =a

(DCE = b 2} 5}

/B =2po]1

(A + /B =180° o2&

a+b=90°

AB//CD ©]2& /BAF = /CFE =a
5 LAEC =180° - (a + b) = 90°




